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SN Glareent
2 0fllY|
cl: oldigl 22 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 58,431,641
siblbl 28 62,171,906 51,380,275 10,791,631
2 1,04,43
= 530,000
Il 2,115,829
= 58,431,641
801 GilbI I 62,171,906 51,380,275 10,791,631
2 1,04,436
T 530,000
Il 2,115,829
[ 58,431,641
01 LetollbIb 44,107,431 30,000,000 14,107,431
@I TETE] 44,107,431
02 HaH - S = 0fHI b 10,000,000 10,000,000 0
OTHah - M == oflblb] 10,000,000
B UEse2 8,064,475 11,380,275 /3,315,800
ouRgea 8,064,475
2 1,04,436
) 530,000
J| 2,115,829
= 4,324,210
HRas(olaggat) 2,018,250 16,151,962 214,133,712
LA DH2H KI5 (Ofl AtErEH2t) 2,018,250 16,151,962 14,133,712
SEHEONEIIZ tl+2 Hel2 A 2,018,250 16, 151,962 14,133,712
705 Gl 22l 2 At s 2,018,250 16,151,962 A14,133,712
02 Gil=20| Xpatt 2,018,250 2,953,562 £7935,312
OSEHHIEG|Z K42 0|Xats 2,018,250
BH2IAHI(0la g 2) 97,120 100,428 13,308
EETIEN==) 97,120 100,428 13,308
PIEETNS=EE) 97,120 100,428 ~3,308
201 LBre | 46,400 48,000 21,600
01 AR zielt| 46,400 48,000 A 1,600
Ol PNEIEEES] 46,400
202 04| 46,400 48,000 A 1,600
01 20| 46,400 48,000 A 1,600
Oulsrate| g2 =& 46,400
203 AR 4,320 4,428 ~108
M EASgLRERY| 4,320 4,48 A108
@l [PNz=1=5 4,320




